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Subject - Mathematics
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ﬁ?ﬁﬂ / Instructions :-
1. T e afvrard &

All Questions are compulsary.

2. Wﬂuwﬁuﬁaaaam/a@maﬁwwﬁﬁél
All questions are based on prescribed competencies/learning area.
3. Ul B IAFIR SB. M SAfda § | |
Weightage of each question is written infront of it.
4. U TH 5 GO H IS 81 T TS gl |
: Quest1on paper is divided into 5 parts. Solve all Questions.

5. %Al & wsﬁwwﬁmzﬁvﬁ%{mwwé’r%ﬁl

Answer must be written in the space provided below the question.

6. U U3 & el 91T & 7 wre, 7 A1 ok T arer T N |

Do not tear, damage or seprate any part of question paper.

BRIER e / Signature of Invigilator

TEAI (@R &) B | sR | wretias / Marks [ wrt 37/ Grade
Competencies / Learning area Marks | Obtained Awarded

SICIN G IS S I Understanding of shape & space | 8
AT | D AT/ Understandlng of number system 16

wisharail B wwr 2
Understanding of basic mathematical operations
A9 Y 737 / Understanding of measurement 24
B BT Ye= T Ve Y T g
Understanding of data handling and pattern.
AT _Total 80
P003] ' 1 ERIER WIS / Signature of Examiner
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1an$i%raw=ra$r'\=msr | 3P — 8

. . UNDERSTANDING OF SHAPE AND SPACE Mark - 8
1. R vl & 1% FifTe— B , 2
Fill in the blanks ;-
() T DI ABIT B BT R PEEANT B |
Those angles which are smaller than right angle are called.................. e —————
(il) 90" & BT BV oo Fed T |
Angle whose measure is 90° is called ................ooooovooooo
2. 9 B e ¥ e S B A wxe fony | - . 6
' Measure the following angles with the help of protractor.
. @) ' (ii) (iii)
() v, (L) s mesmemomorppesmens 13 S
2. T S Y e 3% — 16
UNDERSTANDING OF NUMBER SYSTEM Marks - 16
3. ¥ ¥ srifeg 9 &1 i sy R 1
 Write fraction of shaded area in the given picture.
2 , 1 1 .
®) 5 @ 5 &) 5 ( )
4. HEI X B TEIR IO b R ¥ P ey gfT ? 1
See the number line and find which fraction number would be in the box. ‘
T —0—0—0— T T T >
A
1 * o 1 v 3 ’ L
@) 4= @) 3? | - @) 1 @34 ( )
5. H@mﬁ 45378, 43758, 47538 TIIT 48735 & BIC ¥ I HH & A4y | ' 4

Write the following numbers in ascending order.

>
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6. i R T werl B Sifaex ArA dfe ¥ W@ a1 T ket 4
Write True/False for the following statements in the given box.
(i) 3i®r 5, 0,6 2 17 77 aTell T I FE&AT 65201 ¢ |
Largest number formed by using digits 5, 0, 6, 2, 1 is 65201
(i) &wr 12756 H 3fH 2 BT A HI9 2000 © |
" Place value of the digit 2 in the number 12756 is 2000
(i) 5320> 5230 '

(iv) =T 23684 H BOIR @ WM W 3(H 2 B .
In the number 23684 the face value at thousand's place is 2 e
7. 9AF =l @ AR Qg W Al § srifed #R qwisu- | 6

Shade the region of each figure representing fraction given below.

o | i e

1 - 2
2 4
(i)
1 - 2
6
(i)
1 _ 3
5 15
3. wifshareil @ T - 3iF — 24
UNDERSTANDING OF BASIC MATHEMATICAL OPERATIONS Marks - 24
8. s PR (Find the sum of) 268 | 2
' v ' + 473 ' ~
9. ©T gu sl @ fafav| (Write the missing numbers) |:| 8 2
. -3 []
. _ 3 5
10. o DIFTY | (Solve the following) _ \ ' ' 4
G) 3068 | (i) 8000 |
+4374 - 2636
P003 3 | P.T.O.
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1. FReer g7 o i ' (Multiply by Nikhilam Sutra) - ‘ 4

.............................................................................................................

........................--.-.--...............................,..................-.. ..........................

& BINTY (Solve these) ‘ ‘ | 6
M2, () ﬂﬁwirammuu‘m%a#zoewﬁﬁﬁ@q%bﬂ#qﬁﬁﬁ? |

How many plants will be there in 206 flowerbeds if each flowerbed has 144 plants,

............................................

B — 24
Marks - 24
4
‘Fill in the blanks, B ‘
0O sfeammm=____ B e e PIE|
3 Kilogram = R R STOUO gm
@) 1500 AT = o feeirams
1500 gm = oo kilogram
(i) 8 el = ... Hrex
. 8kilometer =...........oco Meter
V) s00 ¥R < e BYER
00 Centimeter=........... Meter ,
| | o & www.rajteachers.com
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15. W / ST P ) e R Y BT P (V) onge—

One hour has 3600 seconds. - ' ( True / False )

(i) HeT TP B fAve 18 # Taem BRI 60 A oM R | (wg / o)

We multiply hour unit by 60 to change it in minute unit. ~ (True/ False ) -

(i) 3 fafe F 300 Jwvs B & (wm /s )

3 minute has 300 seconds. ( True / False )

(iv) 4 ®C ¥ 200 fAife B &) (v / o )

4 hours has 200 minutes. . ( True / False )

16. W#Eﬁ?ﬁmmwﬁﬁmﬁﬂ@am@ﬁﬁ— 4

(1) = 3 e, 40 ¥ 25 00 P W A

@ da2dly ' mER O A Y

(3)" =R 4 fHum 41 TR B R | _

Wﬁmmmmﬁﬁﬁwﬁwwﬁm%w#@

febe wud @ fby | |
R . il oRe wiR LS LA
:nT'T -q -q—a-l. ............................................................................ e e e et e e E e haa e a A et g eeenannn e anraroanrnnnnss

.4 A AR =T X T
| Bl AT

Ganesh purchased the following items from "Swadeshi General Store” Bharatpur.

(1) 3 kg rice at the rate of Rs. 40 and 25 paise per kg.

(2) 2 litres of oil at the rate of Rs. 75 and 60 paise per kg.

(3) 4 kg of sugar at the rate of Rs. 41 per kg.

Find the total expenditure made by Ganesh by making the bill in the following format.
BillNo. ... - Swadeshi General Store - Date....eeererrrenrn.,
Name & Add. ........ccoooo......... e itfssmnssssesessersossepss eSS TET S s e

S.No. |’ Name of Items Quantity Rate Amount
. Total Amount 7
P003 ' ‘ 5 PT.O. .

Tick '(\/) the correct option given in the bracket.

() 1€ ¥ 3600 VDTS B T

(9 / =7 )
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P003

3cm | 3cm

6cm |

6 cm

P 2dm

3O ABCD &7 &5%hef —

Area of rectangle ABCD IS = e

ST PQRS &7 85%e] —

Area Ofrectangle PQRS iS == B SR
R st &Sl T &2

Are the area of both rectangles equal,

......................................................................................................

AT ABCD &7 yRamg —

Perimeter of rectangle ABCD i§ = oo

AT PQRS &7 yRHg =

Perimeter of rectangle PQRS: sttt

ﬁﬁqmwﬁma@zﬁélw%ﬁl

Perimeter of which rectangle is more? name it.

.......................................

......................................
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18. 100 WY el & T S A @ 10 frex B 3 Ry, 5 CAIER & 6 5o oI 3 eftex & 10 foadt F de7 oy
wmsaifw?r&rﬁﬁzeﬁaa%ﬁmﬁ%éﬂ%ww? ' ' ' 6
From an oil drum with ca apacity of 100 litres, 3 drums of 10 litres, 6 drum of 5 litres and 10 drums
of 3 litres are filled then the remaining oil are filled in drums of 2 litres. find the number of drums
having capacity of 2 litres,

.......................................................................................................................................................
..-.-....-...-...-..-.n--.u-u-.-.u.-........-.-..'.........-..-.-.-..-.--.......u...... .............................................................
.......................................................................................................................................................

.......................................................................................................................................................

5. ABel BT yaerT v def o) iU '
UNDERSTANDING OF DATA HANDLING AND PATTERN

919 ﬁﬁﬁﬁ@ﬁ?ﬁaﬁmw— : | 1

Extend the following Ppattern-

@ L] el
@ [= @ =] )
20, Hﬁ:@:ma‘\f%ﬁ— | | . 1
@M M @ e o s
(@) 32 W @) 30 TR (&) 302 = (&) 1011 =% ( )
if @ = 10 house ‘, - |
Then @ @ @ hquse will represent-
(2) 32 House (b) 30 House (c) 302 House  (d) 1011 House ( )
21, %mwﬁﬁﬁwwzﬁaﬁﬁw— 2

Understand the following patterns and then fill in the blanks.

POO03| . 7

. PT.O.
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22. W%THWWWWWWW%ﬁHﬁ@ gﬁw@zﬁﬂ"@ﬂvﬁi‘f

mﬁmﬁd’rﬂ?%— » 4
' B3RS IES - I 9<rE IIQ:F?H%’ Il s IV @z ‘
JECRI B 7 2 3 5

ﬁﬂﬁw%ﬁﬁ@wﬁm'%m»l

o—\mw.h'cnc)\loo

1 II 111 v
HIGIg QTGHTFJ Hdlg 9drg

The following table shows the number of acc1dents in the month of February of a particular cross
road of Jaipur city recorded by traffic police.

Weeks I Week - II Week - HIWeek | IV Week
No. of accidents 7 2 3 5
~ Represent the above data in form of bar graph '
2 8
=
3 7
Q
26
S 5
o
> 4
3
2
1
.0 _ :
I II III v
Week Week Week Week-
[POO3] A 8
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